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Candidates are required 1o give their answers in their own words
as far as practicable.
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1.

[ English Version ]
The figures in the margin indicate full marks.

Choose the correct option (any ten) : 1x10

(a)

(b)

(c)

G)

(e

®

(g

()

‘Some square things are circular’ and ‘Some square things are not circular’— the relation between
these two propositions is :

(i) Contrary (ii) Subalteration
(i) Sub-contrary (iv) None of these.

The word ‘some’ in a categorical particular proposition denotes
(1) at least one (i) atmost one

(1) exactly one (iv) none of these.

In which of the following proposition both the subject and predicate terms remain undistributed?
(i) All members are college graduates (i) ~Some members are not college graduates

(iii) No members are college graduates (iv) Some members are college graduates.

The contraposition of ‘Some S is not P’ is
(1) All non-P is not non-S (i) Some non-P is not non-S
(iiiy Some non-S is P (iv) None of these.

Which valid mood of the following is a valid form in the 3rd figure of the standard form categorical
syllogism?

(i) FERISON (i) FRESISON

(i) DIMARIS (ivy CAMESTRES.

In which of the following syllogistic forms involve the fallacy of illicit major?
(@) EAE - 1 ‘ (i) AEE -1

(i) EIO -3 (v) AIl-2

According to modern logic the fallacy which is committed in a standard form categorical syllogism,
if a particular conclusion is drawn from two universal premises, is

(i) Fallacy of four terms
(ii) Existential fallacy
(iii) Fallacy of drawing an affirmative conclusion from a negative premise.
(iv) Fallacy of equivocation.
‘Heat is the cause of the expansion of an object’— which inductive method of Mill has been applied
in this example?
(i) Method of Difference (i) Method of Residuces
(iii) Method of concomitant variation (iv) Method of Agreement.
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(1) ‘Few grapes are sour’— the transformation of this sentence into standard form categorical proposition
is
(i) Some grapes are not sour fruits (i) ~Some grapes are sour fruits
(i) All grapes are sour fruits (iv). No grapes are sour fruits.
() The conclusion of an inductive argument is always
(i) necessarily true (i) necessarily false
(iii) probable (iv) none of these.
(k) What is the probability of rolling three dice so that the total number of points which appear on their
top-faces is 3?
@ 1/6 () 1736
(i) 1/216 @iv) 12
(I) No dishonest persons are responsible persons because no dishonest persons are wise persons. —
Which type of enthymeme is it?
(1) First order enthymeme (i) Second order enthymeme
(i) Third order enthymeme (iv) None of these.
2. Answer the following questions briefly (any five) : 5%5
(a) What do you understand by distribution of terms? Explain, with examples, which terms of categorical
propositions are distributed and why?
(b) Explain the fallacy of illicit minor with an example.
(c) Is contraposition of I proposition possible? Explain with examples.
(d) Explain with examples the necessary and sufficient condition for an event.
(e) What is a crucial experiment? Explain with examples.
(f) Discuss ‘Plurality of causes’ in brief.
(2) What is an empty class? What is its significance in Boolean interpretation of categorical propositions?
(h) Translate the following sentences into standard form categorical propositions :

(i) Whenever he wins, he celebrates
(i) Few men are not selfish.
o A\ MURALIDHAR GIRLS’ COLLEGE
(iii) A thing of beauty is a joy forever. LIBRARY

(iv) All metals are solid except mercury.

(v) Only handful of Indian students are scientists.
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3%

(7]

. Answer the following (any three) : 5x3

Answer any two of the following questions.
(a) Test the validity of the following arguments by means of Venn diagrams (any two) : 5%2

(i) Although he complains whenever he is sick, his health is excellent. Therefore, he won’t
complain.

(i) No sane witness incriminate themselves. But some witnesses incriminate themselves. So some
witnesses are insane.

(i) Straight lines are never curved. Only straight lines can be the sides of a triangle. So the sides
of a triangle are never curved.

(b) Transform in Boolean terms and express in Venn diagrams : 22V
(1) Everything is momentary.

(i) All whales are mammals and all mammals are warm-blooded animals.

() Explain, with examples, the traditional square of opposition. Discuss what changes have been made
to this square by the modern logicians and why?

(b) What is mixed syllogism? Explain with examples the difference between mixed hypothetical and

mixed disjunctive syllogism. (5+5)+5
Write short notes on (any two) : 7t1Ys
(a) Mill’s method of Difference MURALIDHAR GIRLS' COLLEGE
(b) Copi’s criticism of Mill’s inductive methods LIBRARY

(c) Seven steps of a scientific method.

2
(a) What is the probability of getting at least one head and at most one head in three tosses of a coin?

(b) In drawing three cards from a deck of cards what is the probability of not getting three hearts?
(c) What is the probability of getting three aces in three successive draws from a deck of cards —
(1) if the cards drawn are replaced before next drawing, and
(1) if the cards are not replaced?

(d) What is the probability of rolling two dice so that the total number of

top fases bo either 4 o 61 points which appear on their




